WARNING: Improper installation, adjust-
ment, alteration, service, or maintenance ca
cause property damage, injury or death.

"U" Heat Exchanger
Tube with Reflector

Read the installation, operation, and Option UB3
maintenance instructions thoroughly before
installing or servicing this equipment. | Installation Form RGM 456-U |

INFRA-REZ ™ Heater
Models TR/TR-H

APPLIES TO:

m Thomas&Betts

Description/Application tion chamber and heat exchanger tubesf the configuration is

The "U" shaped heat exchanger tube is used to adapt this tubulaltered by use of a 5-ft heat exchanger tube, follow carefully the
radiant heater to a specific location and/or to provide a balance ofuidelines restricting the location of 5-ft heat exchanger tubes
radiant heat. The "U" heat exchanger tube may be installed in anyRefer to Form RGM 607} he straight tube length of the burner
length of system from 20 to 70 feet. Follow the selected configu-side of a "U" tube must always be equal to or longer than the
ration layout in Technical Form RGM 607 for suspension point straight tube length on the exhaust side.

dimensions. MPORTANT: LAYOUT THE 'U' SYSTEM The "U" shaped heat exchanger tube option includes its own sepa-
ONLY AS ILLUSTRATED IN FORM RGM 607. The "U" rate aluminum reflector which must be field assembled and in-
heat exchanger tube must be located relative to the combus-  stalled.

Option UB3,Package P/N 1207124ncludes:

Codg Qty] P/N | Description Figure 1 - Option UB3 Components
1 1 | 120534| "U" Heat Exchanger Tube
2 1 | 120993| Reflector Top
3 1 | 120994| Reflector Right Side
4 1 [ 120995| Reflector Left Side
5 1 | 120719| Reflector Hardware Bag including:
1 | 120716| 1/2" Stainless worm-drive clamp
1 | 120677| Reflector Bracket
14 | 113275 Screws, #10-32 x 1/2" long
14 | 26490 Nuts, Kep #10-32
2 | 113807 Washers
6 1 | 116017| Tube Connecting Hardware Bag
(includes parts list)

Installation Instructions -- Reference Heater Installation Manual

Installation should be done by a qualified agency in accordance with these instructions and in compliance with all cqdes@uents

of authorities having jurisdiction.

1. Install the burner/control box, combustion chamber tube, and any heat exchanger tubes before the "U" tube. Carefullyliead and f
the instructions in the heater installation manual and the hardware packages.

2. Turbulator Strip Sections -- If the following conditions apply, install two sections of the turbulator strip in the straight heat ex-
changer tube before attaching the elbow tube. Follow the instructions in the heater installation manual.

Insltall rt]woBtgr_lk_)E'Iat;)rhst;ip”sec_:tions b;fgre the ellk_)ow tube Size Elevation of Site* with Straight Tube Length
only when - 0 .t e following c.:on. itions apply: = 58000 1 70 foot

1) the "U" tube isadjacentto the tail pipeAND 100 0-8000 Tt 20. 45, 50 feet

2) the heater and installation comply with the foIIowi> 125 0-8000 ft 40, 45, 50 feet

*To install a heater above 2000 ft elevation, that heater must either be. 150 0-8000 ft 50, 55, 60 feet

factory-built for the required elevation or field-converted to that eleva- _175 0-2000 ft 50, 55, 60, 65, 70 feet

tion. Check the rating plate or field-conversion label for allowable in- 200 0-2000 ft 50, 55, 60, 65, 70 feet
stallation site elevation.

3. Connect the "U" Tube -- Remove the "S" hook from the con-
necting hardware bag and attach it to the "top" hanger bracket.
Slide the expanded end of the elbow tube over the last susé-
pended tube. Follow the illustrated instructions in the hard-

ware bag to connect the tubes (same procedure as the straight
heat exchanger tubes).
Following the layout, suspend and connect the remainder of
the tubular system according to the instructions in the heater
installation manual.

MFG P/N 120720



Installation Instructions (cont'd)

5. Install Straight Reflectors-- Follow the instructions in the heater installation manual to
install the reflectors on the straight sections of piN@TE: If an optional side shield is
included, install the reflector brackets shipped in the tube catathe reflector brack-
ets in the side shield cartons -- total of four brackets and retainers per 10-ft tube.)

6. Assemble "U" Tube Reflector-- Assemble the reflector top and sides and attach the
reflector bracket as illustrated in Figure 2.

Figure 2 - Use the Hardware provided to Assemble the Reflector Top, Sides, and Bracket

10-32 x 1/2" L6, BOLT (2)
{' (P/N 113275)
FLAT HASHER (2)

(P/N 113807)

U-REFLECTOR LEFT SIDE

10-32 x 1/2% LS. BOLY (&)
(P/N 113275)

10 32 HEX NUT (8)
(P/N 26490)

U-REFLECTOR TOP

|
REFLECTOR BRACKET
(P/N 120677}
10-32 HEX NUT (21

(P/N 26490}

U-REFLECTOR RIGHT SIDE

7. Install the Assembled "U" Tube Reflector-- Position the assembled reflector on top of
the "U" tube with the bracket at the center of the bend in the "U". Locate the two pre-
drilled holes on both ends of the assembled reflector where it overlaps the adjoining
straight reflectors. Mark the holes on the straight reflectors. Remove the "U" reflector
assembly and carefully drill 7/32" holes in the straight reflectors.

Unfasten the worm clamp. Re-position the reflector on top of the tube with the bracket at
the center of the "U". Wrap the clamp around the tube attaching the reflector bracket.
Fasten the clamp to hold the reflector in place but do not tighten.

Use the remaining screws and nuts to attach the "U" tube reflector assembly to both
adjoining straight reflectors. Tighten clamp securely.

8. Complete the installation by following the instructions in the heater installation manual.
NOTE: The "U" tube reflector and the adjacent straight reflectors cannot be rotated.

Thomas&Betts

©1997 Thomas & Betts Corporation, All rights reserved. Printed in the U.S.A.

MANUFACTURER OF GAS, OIL, ELECTRIC HEATING AND VENTILATING SYSTEMS
Page 2 497 5M WE Form 456-U.3



